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BCA (CBCS) RUSA II Semester
Examination

3769

COMMUNICATIVE ENGLISH
Paper : BCA-0202

Time : 3 Hours] [Maximum Marks : 70

Note - Attempl five questions in all. Part-A is compulsory.
Select wne gquestion each from Parts-B, C. D and E.
Part-A
(Compulsory Question)
I (A) Do as directed :
() Suman ... (wrle) poetry,
(Fill in the blunk with the correct
form of the verh)
(my  He responded ... (o my email.

tFill 1n the blank with an

appropriate adverb)

CH-569 (1)

Turmn Qver

https://www.hpboardonline.com

(m) Be careful. the knife is ................. .
(Fill in the blank with a
suitable adjective)
(tv) Give a synonym of the word “ability”.
Use the synonym in a sentence.
(V) Use the idiom ‘beat around the bush® in a
scnlence.
(vi) Do you prefer orange juice ?
(Rewrile as a declarative sentence)
(vil) An analytical report is an interpretalive
report. (State whether true or false)
(viii) Body language is important 1o effective
hstening. (State whether true or false)
................... 15 the study of the body's
physical movements.
(x) A list of the individual items that need 1o
be discussed in the meeting is called -
(a)  Notice
(h)  Minutes

(¢} Agenda

CH"'569 {2)

Ex10=10
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(B Anmswer the following 1in 25-50 words each

() Wrile 4 nonce for a staft mecting of a

company

() What s a summary ?

i Why s piuch of  voice  important in
commumcation

vy Wnte a note on the reasons for failure in

an nterview.,
(v How can one overcome nervousness before
a presentation ! 4x5=20
Part-B FOx =10
Rewrite the tollowing sentences in passive vowee
(4 Sumil ate four chapaties at lunch.
1 Shimla s visited by thousands ol tounsis every
Yeal
o Hema |‘IIC-L'I'I|.L‘U.I the report vesterday

Vi O road 1s being lcp.ulni

i hioe trom the muaan market
. He hiouphi segetabDis

Turm Owver

CH-569

L
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Or
Rewnte the following passage using the correct tenses
of the underhined words :

As virtual spaces and gadgets are tum into an
extension of our physical selves, it's important to
disengaging from technology. Following these simple
stirategics @ sets time limits for gadget use: put aside
gadgets when ate food, reads. or watch something.
Leam to switching off at least an hour prior 1o wenl
lo sleep to relaxes your mind.

Part-C 10x1=10
Write a job application for the post of a sales
execulive,

Or

Muke a curriculum vitae for your first job application
for the post of a salesperson with an automobile
dealer.

Part-D 1x1=10
Write a note on the skills required to make an
effective presentation.

Or

What preparations are 1o be made before attending a
mecting 7

Part-E LOx1=10
What do you understand by flow of communication ?
Or

How can kinesics be used for cffective communication ?

CH"SBQ (4)
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Roll No.
Total No. of Questions : 9] [Total No. of Printed Pages = 7
(2034)

BCA (CBCS) RUSA IInd Semester
Examination

3772

DATABASE MANAGEMENT SYSTEM

Paper : BCA-0205
Time : 3 Hours] [Maximum Marks : 70
Note — Attempt five questions in all. Part=A 1s compulsory.

Attempt one question each from Parts-B. C. D and E.
Part-A
(Compulsory Question)

. (A) Chousce the correct answer @
) NP offers the ability to query the
/ﬁ:;l and insert. alter, and delete wples.
ta)y  Transacton Control Language (TCL)

(b Data Control Language (DCL)
(e Data Detimtion Language (DDLL)

() Data Mampulavon Language (DMIL)

Turn Over

CH"'572 (1)
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(111)

CH-572

A . means that one rccord in a
particular record type can be related to

many records in another record type and
vice-versa.

(@)  One-to-one relationship

(b) One-to-many relationship

(c)  Many-to-one relationship

(d)  Many-to-many relationship

What is the name given to the database
management system which is able (o
handle full text data, image data, audio

and video ?

(a)  Full media

(b) Graphics mcdii/
(c) Mulumedia

(d) Hypertext

(2)

https:/iwww.hpboardoniine.com
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.'L..L Tilae mr ey

. . . . : : I bv a spreadsheer.
(iv) Which of the following is Databasc : e
turIs generally stored on disk in gn
Language 7 . .
TT ASCIT text format

(a) Data Definition Language by Can be used as by the DBMS
fcy  Can be used for graphic

(b)  Data Manipulation Language
(d)  All of these

C uery Language - S . ,
(¢) Query Languag «ity The master list of an indexed file -

(a) Is sorted in ascending order

(d) Al of these

(by  Contains only a lis -
. - : Y a hst of keys
(v) Each of data files has a ... that ys and
record numbers
describe the way the data is stored in the . e .
Y (€) Has a number assigned to each
file record

(d) Both (b)and (¢)

(1) File structure
{VIIIJ' A form dﬂfings :

) Records (4) Where daty i placed on the screen
(¢) Fields (b) The widih of each field
(©) Both (a) ung (b)
(d)  Databasc (d)  None of these
CH-572 (3) Turn Over CH-572 (4)

https://www.hpboardonline.com https://www.hpboardonline.com


https://www.hpboardonline.com/

(ix) Queries to a database : Part-B 10x1=10

(a) Are written in English Note — Attempt any one question.

(b) Can use aggregate functions like 2. Elaborate the points that make DBMS a better choice

SUM and COUNT . .
as compared to traditional file-based systems.

(c) Both (a) and (b)
3. What is data abstraction in DBMS and what are 1ts

(d) None of these
three levels 7 https/fiwww.hpboardonline.com

(x) Column header is refer as :
Part-C 10x1=10

{a) Table

(b) Relation Note — Attempt any one question.

_4ey”  Aurbutes

4. What do you mean by indexing 7 How many types

(d) Domain Ix10=10 of indexes are there 7 Explain.
(B)  Write short notes for the following : o | , '
5. How is indexing done using B-Tree Structure 7
(1)  Entity Relationship Model
. | Part-D 10x1=10
() Direct Files
Note :— Attempt any one question.

(1) First Normal Form
(iv) Primary Key 6. Explain the Third Normal form and BCNF in detail.

4x5=20) .

v) De v Previlios
ependency Prevation ‘ ]
I Y What 1s Functional Dependeney !

CH-s57
2 Turn Over

https://www.hpboardonline.com https:/fwww.hpboardoniine.com


https://www.hpboardonline.com/

Part-E 10x1=10

Vote :— Attempt any one question.

8. Wnte the steps to create a query. Distinguish between

Design Area and Design Grid of Query Design

window.

9. What 1s Report 7 What are the different report

views T Elaborate.

https://www.hpboardonline.com
Whatsapp @ 9300930012
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Roll No. ... ... y _
() What s the value of the postiix expression

Total No. of Questions : 10] [Total No. of Printed Pages = 7 63244 _ %09
(2034)
a) 1
B.C.A. (CBCS) RUSA II Semester
3771 © 74
DATA STRUCTURES (d) -18
Paper : BCA-0204 (1) How many children does 2 binary tree have ?
Time : 3 Hours] [Maximum Marks : 70 (a) 2
Note :— Part-A is compulsory. Candidates nced o0 atlempt (b) any number of children
’ sach arts B, C, D and E.
one question cach from Parts B in © 0orl or 2
Part-A
(dy 0 or |

(Compulsory Question) |
(iv) . Which of the following is a lincar duty

. Answer the following questions :
structure 7
(i) Pushing an element into stack already having .
) ta)  Array
five clements and stack size of 5, then stack 7
(b)  AVL Trees

becomes ... .
(a) Overtlow Mh () Binary Trees

(¢) Underflow (d) User flow W) Graphs

CH—571 (1) Turn Over CH--S?" o)
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vy Which of the following data structures finds s

use n recursion
(a)  Stack

(b)  Arrays

(cy Linked List
(d)y Queues

ivi) The insertion and deletion from a stack takes

place only from the TOP (True/Fulse )~

(vit) Best case complexity of the bubbie sort algonthm

(vii} Which one of the following is not the tvpe of
the queue ?

(a}  Laneur queue

(b)  Crrcular queue

fcy Double ended gueue

id)  Single ended gqueue Ixi10=10

CH-571 (3 Tum Over

https://www.hpboardonline.com

(1x)

(x)

A full binary tree with n leaves contains
(1)  n nodes

(h) log,n nodes

() 2n - | nodcs/

(d) 2" nodes

A tree can be drawn if it is mn preorder and

.................. traversal is given. Ix10=10

2. Answer the following questions in brief :

(1)

(1h)

(1)

(1v)

(v)

Explain time-space tradeoff of an algorithm,
Evaluate below postfix expression :

2322728211 5852%6 -+

-

What are the advantages of circular hinked hist 7

-
L=

Disunguish between hnear and binary scarch

P
Distinguish between tree and binary tree. 4x%=20

CH-571 Ca
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Part-B 10 cach Part-D 10 cach

-t

e date structure © Wnte a bref note on :;’//chlme stack. Explain various applications performed

on stack.
soticabon of data structare  Bxplain s types
Or

(}r
8. Define queue. Wnite an algonithm to insert an element

i L aplan the insertion and deleton operations performed

In gqueue.
anas n detand Part-E 10 each
Part—(' 10 each _ywme a brief note of Traversing a binary tree. Find

. r. inorder and postorder traversal of the
Wriat s Linked ist How v it represented 10 the preorde P

following tree :
Brictis caplain neader linked st

() /\\

e L Ao that Jdelete the Tirst clioment ol a

! H AT ol il [ormc it ab e cod ol Db /

CH_571 . [ e CH-571 ( 6)
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Or

10. Explain linear search. Write an algorithm to perform

lincar search. Also explain its disadvantages.

https://www.hpboardonline.com
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ROl NO. e men,

Total No. of Questions ; 10] [Total No. of Printed Pages : 4
(2034)

B.C.A. (CBCS) RUSA IInd Semester
Examination

3770

DIGITAL ELECTRONICS
Paper : BCA-0203

Time : 3 Hours] [Maximum Marks : 70

Note = (Unmit-1) 1s compulsory. Attempt four questions

choosing one question from each Unit.
Unit-I
(Compulsory Question)

I. (i) Impurity is added in intrinsic semiconductor for

making semi conductor devices. (True/ False)
(i) The principle cause of propagation delay in a

pn junction is removal of carriers.

CH-570 (1) Turn Over

https://www.hpboardonline.com

(1) The don’t care condition could be simply used
in order to simplify the Boolean expression in
(@)  Latches
by K maps
(C)  registers

(iv) CMOS technology is used in ...
(1) microprocessor
(by digital logic
(cy  Both of these

(v) TTL digial civeuwit possess ............... due 10 ils
mult emitter transistor.
()  Low mduction
(by  High capacitance
(¢) Low capacitance

(vi) The group of 1's in 4 cells of k-map 1s called
(a) par
(b) quad
(c) octet

" e e o § = K i e
(@) SR flip flop
(b) T flip flop
() D fhp flop

CH-570

(2)
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(vimy I there are 2™ anput hines then 1t requires

.. select hines.

{ay 2
(h) n
(<) m

ax) A digital circunt that can store only one bit of
mtormation s called ...
(a)  Reaister
(b  Flip flop
(c} XOR gate
(x)  Which of the logic unit is the fastest of the

following logic famihes ?

(a) ECL
(hy TTL
(c) CMOS Ix10=10

- Short answer guestons

. fdawy )
(1 What 15 a multiplexer

(1 What are semiconductors

() Explain race around condition.

(v) Deseribe the charactenstics of digital inegrated
crreunt

WY Explun de Morgan’s Law with example. 4x5=20
CH_,S?O (3 Turn Over

https://iwww.hpboardonline.com

Unit-I1 10 each

3. Explain pn junction diode. Also explain a forward

biased and reverse biased diode.

_Af/Explain the transistor-transistor logic (TTL) in detail.

- What is master slave JK flip

Unit-TIT 10 each
(a) Prove that :
A'BC + AB'C + ABC' + ABC

= AB + BC + CA
(b)  Simplify :
f=(A+C)(AD + AD") + AC + C

What are logic gates ? Describe the truth table and
symbol of the following logic gates.

(a) NAND (b) OR
(c) XOR

Unit-1V
Explain different techni
suitable example.

Flw, x, v, 2) = Em ©, 1,2 6,8, 9 10 1) +
Zd (3,7, 14, 15) is a set of Boolean 1
M represents min terms and o repre
Find the minimal SOp expression

.. Unit-V
Draw the truth table and logic

10 each
ques of minimization with a

f’ul’lcli on, Whgre

sents don’t care.
for F.

10 each
diagram of ful] adder.

flop ? Draw i e
symbol and circuit diagram. 1ts logic

CH-570

(4)
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Total No. of Questions 9]
(2034)

BCA (CBCS) RUSA IInd Semester
Examination

3768

MATHEMATICS-II
Paper : BCA-0201

[Total No. of Printed Pages : 4

Time : 3 Hours] [Maximum Marks : 70

Note :— Attempt one question from each Unit. Q. No. 9 is

compulsory.
Unit-I
I. (a)  Venfy Cauchy’s Mean Value Theorem for the

[unctions

fix) = log x and g(x) =

R |-

in the interval [1, ¢].

(b) State and prove Lagrange’s Mean Value

Theorem. 2.5

CH-'568 (1) Turn Over

https://www.hpboardonline.com

2. (@) If y = (sin”! x), find y,(0).

(b) If p* = @ cos®> O + b sin® O, prove that :

o+ dzp _ a’b?
a6’ p’ 5.5
P 5.
Unit-11

3. (a) Show that for any two integers a and b, with
a > 0, there exist unique integers ¢ and r such
that b = ag + r, 0 < r < |al.

(b) If a and b are relatively prime integers, then
any common divisor of ac and b is a divisor

of ¢. 5.5
4. (a) Solve 2x + 7y = 5 (mod 12)

ll

{b) Find the g.c.d. of 275 and 200 and express it
in the form 275x + 200y. 5.5

Unit-111
5. (a) Let Q* denotes the set of all relational numbers
expect 1, then show that Q* forms an infinite

abelian group under the operation ‘o’ defined
byaob=a+b—ub‘v’ﬂ,ng*.

(b) 1f in a group G, a® = ¢ and aba~! = b? for all
a, b € G. Prove that if b % e, then b3 = ¢. 5.5

CH-568 (2)
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O ()
(b
)
(b)

& (aj
(b)

CH-568

Show  that  the  muluplicative  group

[1. -1. i. =i} formed by the fourth roots of

umity 1s a cyclic group.

It G is a group under the binary operation *
and a, b are elements of G, then prove that
(a * by' =b'* a' ¥ 4 b e G. 5.5
Unit-IV
It R s a ring with identity such that -
() = xv ¥ x, vy € R

then show that R is a commutative ring,

[.et R be the set of all reals -

e &7
Take F =< ‘:a,bER
=& a
Then prove that (F, +, .) is a field. 5.5

Prove that the set G :’-:a+ ﬁbla,beQ} where

Q 15 the set of rationals,-is a ring,

Give an example of a divi§i0n nng which 1s

not a feld. 5.5
(3) Turn Over

https://www.hpboardonline.com

9.

(1)
{)
()
(iv)
(v)

(vi)

(vin)

(Vi)

{1x)

(X}

Unit-V
(Compulsory Question)
State Cauchy's mean value theorem.-

[l v = ¢*™ cos (bx + ¢) then v, &

State Leibnitz's theorem,

)

8" — 3" is not divisible by 5. /{)True."Fulse}

Find g.cd. (121, 550, 770).

Find the remainder when 2%0 s divided by

341.

Does the set of positive irrational numbers form

a group under multiplication ./ (Yes/No)

If (@b = &*h*. YV a. b e G,l where G is g

group. then show that G must be an abeltan

group.

Every cyclic group 1s abehan. | (True/False)

Identify which one from the following is not a

field :
(N, +,

Do (Q, +, ) and (C, +, )"

CH-568 (4)

https:/iwww.hpboardonline.com
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R R T

() Which of the following operations is performed
Total No. of Questions : 10 | Total No. of Printed Pages : 4

by ALU 7
3 _
(2103) (a) Data Manipulation
BCA (CBCS) RUSA IIIrd Semester :
: . (h)  Exponential
Examination
(¢} Square Root
3564 () All of these
COMPUTER ORGANIZATION Giiy Which  of the following memory unit
Paper : BCA-0303 communicates directly with the CPU 7
i : Auxiliary memor
Time : 3 Hours] [Maximum Marks : 70 @) uxihiary Y
(h) . Maimn memory
Note :— Part A is compulsory. Attempt one question each
;- : (¢) Secondary menory
from- Parts—B, C, D"and E. -
(d) None of these
Part-A

(iv) The collection of 8-bits is called as :
(Compulsory Question)

(a) Byt (b) Nibble
1. (i) - Which of the following computer memory is ©  Word @) Record
fastest 7 ‘
(v) ASCH stands for ..o ‘

. Rewister . -
@ Register (vi) Decimal equivalent of (101101)5 18 werennes ’
(b)  Hard disk "o (vil) Which gate is known as universal gate ?

(€©) RAM (@) OR (b AND
(d) None of these (d) NAND (d) None of these
C-709 (1) Turn Over C-709 (2)
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(viii) Program counter bolds the address of data, which

is to be executed next. (True/False)
(x) LIFO is stack organization. (True/Talse)
(x) 1011 — 1001 — 1001 = — Q011 (True/Fulse)

1x10=10

!d

Short Answer Questions (25-40 words) :
(i) Write a short note on hamming code.
iy Convert 121 to decimal number.
(iii) Define micro-operations.

(iv) Explain two address-instructions.

(v) Evaluate program interrupt. Sx4=20

Pari-B
(Unit-I)

3. Define hamming code. Explain how it is used for
error selection with example. 10
Or
4. (i) Explain how a floating point binary number is
represented in mantissa and exponent for ?
(i) Convert the lollowing decimal number (o
hexadecimal number.
(a) 716, (h) 289, (c)y 387, 4+6=10

c-709 (3) Turn Qver

https://www.hpboardonline.com

Part-C
(Unit-11)
() Define registers. Fixplain how register transfer
of information take place.
(iiy  Explain picro-operations in detail. 54+5=10
Or
Explain 3-bit binary address in detail. 10
Part-D
(Unit-III)
Explain the concept of indirect address. Explain the
stored program organization of computer. 10
| Oor
Explain instruction format. Define timing and control
of registers. 10
Part-E
(Unit-1V)
Define instruction format. Explain  three address
instructions in detail. 10
or

10. Define program interrupt. Explain various types of
- interrupts. 10

E)
——

C-709 4
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Roll No. oo

Total No. of Questions : 9] [Total No. of Printed Pages : 4

(2103)

BCA {CBCS) RUSA IIIrd Semester
Examination

3562

MATHEMATICS-III
Paper : BCA-0301

Time : 3 Hours] [Maximum Marks : 70

Note — Part—A is compulsory and is of 30 marks and attempt
one question each from Parts-B, C, D and E. Marks are

indicated with each questions in each parts.

Part-A

1. (A) () For the given differential equation :

2., A3
fj—"4(d—\) +2v=0
dv® \dx

order 15 = ....oeeeeeee and degree is .......... .

(i) The general solution of differential equation
involves as many arbitrary constants as
the order of differential equation.

(True/False)
C-707 (1) Tum Over

https:/fwww.hpboardonline.com

(iii) The product of three cube roots of unity
is one. (True/False)
(iv) Express (5 - 3i)? in the form (a + ib).
(v) 2 is smallest even pnime number.
(True/False)
(vi) Evaluate X(1 + w - who,
(vii) Define relative prime integers.
(viil) Write conjugate of (3 + i).

(ix) «cis Gi‘ cis 9, cis 93 = eeereneenens

(x) Find the modulus of (Hwﬁf). 1x10=10
(By (1) Solve :
2., .
d '_t-—?d—}*]—ﬁ)"—"t’lx
dx" Iix

(1) Explain the rule to solve Cauchy’s linear
differential equation.
() Find real O, such that
3+ 2isin®
1-2isin0
s purely real.
(v) Prove that :
(cosB+isin®)
LsinG+icosB,

(v) Check, whether 2093 1s prime or lmt_:{

C-707 (2)

https://www.hpboardonline.com

=cos88 +isin 86

x5=20
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Part-B 10 each
2. (a) Fon_n the differential equation representing the
family of curves y = a cos (x + b), where a
and b are constants.
(b) Solve :
d’y . dy 4
—=—5—=+6y=xe""
o Cdx
3. (a) Solve the differential equation :
2
x2ﬂ+xﬂ—y:ﬂg«f
de?  dx
(b) Solve :
2 .
(1+2x)25—3—"—6(1+2x}ﬂ+1ﬁy:3(1+zx)2
dx? dx
Part-C 10 each
4. (a) If Z, and Z2 be two complex number, then
prove that : hitps://www.hpboardonline.com
2
2, + Z) + @) - 2y }
f’ -
= 2z, + 12,1
(b) Find the modulus and argument of the complex
1+2i .
number 1+ 3;, then convert it into polarform.
5. (a) Find the square root of 24 — 10
(b) If the complex number Z;, Z,. Z; be the
vertices of an equilateral triangle in complex
plane, then prove that :
23+ 23423 = 2\ Zo + Ly 23+ 237
C-707 (3) Tumn Qver
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Part-D 10 each
6. (v Find the solution to system of simuitaneous
equations :
v = 2(mod 3), x = 3(mod 5), x = 5(mod 2)
(b) Explain the following :
(1) Primes
(i) Quadratic congruences
7. (a) Solve the congruence :
5¢ + 6x + 1 = O(mod 23)
() Find the prime between 1 and 100 by using
sieve of Eratosthenes.
Part-Ef 10 each
8. (@) Show that (Z;, 75, Xy) is a finite field.
(®) Explain the following :
(1) Finite field over reals
(i) Substraction of polynomial over GF(2)
9. (@) Write down the composition table for :
(i) GF(2) and
() GF2?
(b) Multiply the polynomial (:°* + x° + X2) by
(x5 + X+ [) in GF(ZG) with irreducible
polynomial o+ x+ 1)
C-707 (4)
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RoOH NGO, oo

Total No. of Questions : 9| [Total No. of Printed Pages - 4
(2034)

BCA (CBCS) RUSA 1IVth Semester
Examination

3776

INTERNET TECHNOLOGY AND
WEB PAGE DESIGN
Paper : BCA-0404

Time : 3 Hours) [Maximum Marks : 70

Note — Attempt five questions in all. Attempt one question
each from Units=I, II, TIT and TV. Q. No. 1 (Part-
A) is compulsory.

Part-A
(Compulsory Question)
1. (A) Attempt all parts. Answer the following MCQ's
by selecting the most appropriate option :
(1) IPv6 addresses have a size of :
(a) 32 Bis
_Ab) 64 Bits
(c) 128 Bils
{d) 250 Bits

CH-576

(1) Turn Qver

https://www.hpboardonline.com

(i) In this topology there is central controller

or hub
(a)  Star
(h)  Mcesh
(¢} Rmg
(d) Bus

() In order to upload a HTML file to a web
" server, which protocol is used ?

fa)
(b)
(c)
(d)

HTTP
SMTP
TCP
FTP

(iv) Which of the following type of HTML
tag is used to define an internal style

sheet ”

(a) <script>

(b) <hnk>

(c) =<class>

(d)  <style>
Fill in the blank spaces :
(v) .. 15 a stateless protocol
(vi)

- Is physical address of computer,

(vit) URL stands 10r .oovoovroine

CH-576

(2)
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(B)

(a)
(b)

(b)

CH-576

(vin) HTML tag for creating a line break is

(1X)  ocvviieeenn 18 used to identify computer in
network.

State whether the statement is True or False

(x) Internet Service Provider provides services

(True or False)

. . : Ix10=10
Answer the following in 25 to 50 words :

for web hosting.

(i) Discuss the working of a Search Engine.

(i) Whai do you mean by FTP 7 Why is it
used ?

(iii) Write a short note on DNS.

(iv) Define anchor tag with an example.

(v) Define XML. What are the advantages of
XML ? 4x5=20

Part-B (Unit-I)
What is Internet 7 Discuss its applications.

What are the requirements for setting up a

Network ?

3D

What are the features of Internct 7 Discuss in

detas).

o

What is clectronic Mail ? Discuss how it works 7 5,

Turn Qver

(3)

https://www.hpboardonline.com

6.

_‘hJ

9.

CH-576

Part-C (Unit-)
() What s a World Wide Weh Server 7 Name
'.'I.['I}' thirce www  scrvers,
(hy  Write a short note on Dial up SLIP.
White short notes on the following
)y ISDN
(m) 1P Addressing
(m) DNS Servers 3
Part-D (Unit-I1)
(a) Explain the structure of the HTML webpage
with an example.
(h) Define List Tag with the help of an example.
(a) Define Table tag and their attributes by giving
a suilable example. https/iwww.hpboardonline.com
(b)  What is an Image Map 7 Give an example 10
show the use of image maps.
Part-E (Unit-1V)
Discuss the process of formatting a site with
Cascading Style Sheets by providing a switable
example.
(a) Explain the use of <DIV> and <SPAN> tags
in CSS,
(h)  Write a short note on Linking in XML,

(4)

https://www.hpboardonline.com

5.9

43

6.4

b
T

10

5,3


https://www.hpboardonline.com/

Raoll Mo

Total Nov of Quections 18] [ Total No of Printed Pages | 4
(2004
B.C.A. (CBCS) RUSA 1Vth Semester
Examination

3777

PROGRAMMING IN VISUAL BASIC
Paper : BCA-0405

Time : 3 Hours] [Maximum Marks : 79

Note - Umi-1 is compulsory. Sclecting one question from
cach Unit.
Unit-I
(Compulsory Question)
Iy In ... window we can wnte code.
f2)  Immediate window
(b) Local window
) Code editor window

(n)  The form module has hle extension,

(w) .Irh
{h) .frm
.I(_'J vh

CH-577 (1) Tumn Over'

https://www.hpboardonline.com

(1v)

(v)

(vi)

(vii)

\

............... control 15 used o provide an
identifiable grouping for other controls.

(2)  Frame

{b) Label Box

(¢) Combo Box

............... is a block of code that is executed in
response to an event.

(a) Function
£b)  Sub Procedure
(c) Property Procedure

............... is a method which moves the focus
to thc-_speciﬁcd control or form.

(a) Set 'ﬁ%pcus
(b Lost Focus
{€) Get Focus

............... is the process of finding and removing

errors
(a) Check
th) Debugging
(c) Break

In visual basic, arguments are passed by default
by :

(a) Reference

(b) wvalue

(c) Obiject

https://www.hpboardonline.com
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(viii) The value of local variable can be preserved by
making the variable as :
(A1) Private
(b) Implicit
(c) Static
(X)) .... function is used to return a copy of a

string without leading spaces.

(a) . Ltnm
(b) Rtrim
(c) Trim
(x) The function procedure are ............... by default.

(a) Protected
(b) Public
(c) Pnvate
2. Short answer questions :
(1) How do you create an executable file in visual
basic ?
(ii) Explain in brief about accessing a child form,
(11)) Write a procedure to create dialog box.

(iv) What does option explicit mean ?

(v) Explain the msghox() lunction, 4%5=20

CH-577 (3)

https:/fwww.hpboardonline.com

Ix10=10

Turn Over

6.

10,

‘F"“—ll 10 euch

What is a form ? How do we create a form and
manage at runtime 7 Also discuss some common
Torm properties.

What is Visual Studio ? Discuss its elements in

detanl.
Unit-I1I 10 each

Explain the different loop statements in Visual Basic.
What do you mean by a variable ? Project the scope
of a variable with a suitable example.
Unit-1V 10 each
Give a brief idea about event driven programming.
Explain the use of code editor to start an event
handler. Discuss adding and removing event.
What is exception ?7 How does exception handling
work ? Create an application with exception handling,
Unit-V | 10 each
How to create a date time value with a particular
format 7 Write the procedure to validate a string
entered by the user.
Write the procedure 1o create a form and display the
form as a dialog box. Expluin with example how
ftem Data property is different from List Index
property of a4 combo box.

CH-577 (4)
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3777

PROGRAMMING IN VISUAL BASIC
Paper : BCA-0405

Time : 3 Hours] [Maximum Marks : 79

Note - Umi-1 is compulsory. Sclecting one question from
cach Unit.
Unit-I
(Compulsory Question)
Iy In ... window we can wnte code.
f2)  Immediate window
(b) Local window
) Code editor window

(n)  The form module has hle extension,

(w) .Irh
{h) .frm
.I(_'J vh

CH-577 (1) Tumn Over'
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(1v)

(v)

(vi)

(vii)

\

............... control 15 used o provide an
identifiable grouping for other controls.

(2)  Frame

{b) Label Box

(¢) Combo Box

............... is a block of code that is executed in
response to an event.

(a) Function
£b)  Sub Procedure
(c) Property Procedure

............... is a method which moves the focus
to thc-_speciﬁcd control or form.

(a) Set 'ﬁ%pcus
(b Lost Focus
{€) Get Focus

............... is the process of finding and removing

errors
(a) Check
th) Debugging
(c) Break

In visual basic, arguments are passed by default
by :

(a) Reference

(b) wvalue

(c) Obiject
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(viii) The value of local variable can be preserved by
making the variable as :
(A1) Private
(b) Implicit
(c) Static
(X)) .... function is used to return a copy of a

string without leading spaces.

(a) . Ltnm
(b) Rtrim
(c) Trim
(x) The function procedure are ............... by default.

(a) Protected
(b) Public
(c) Pnvate
2. Short answer questions :
(1) How do you create an executable file in visual
basic ?
(ii) Explain in brief about accessing a child form,
(11)) Write a procedure to create dialog box.

(iv) What does option explicit mean ?

(v) Explain the msghox() lunction, 4%5=20

CH-577 (3)

https:/fwww.hpboardonline.com

Ix10=10

Turn Over

6.

10,

‘F"“—ll 10 euch

What is a form ? How do we create a form and
manage at runtime 7 Also discuss some common
Torm properties.

What is Visual Studio ? Discuss its elements in

detanl.
Unit-I1I 10 each

Explain the different loop statements in Visual Basic.
What do you mean by a variable ? Project the scope
of a variable with a suitable example.
Unit-1V 10 each
Give a brief idea about event driven programming.
Explain the use of code editor to start an event
handler. Discuss adding and removing event.
What is exception ?7 How does exception handling
work ? Create an application with exception handling,
Unit-V | 10 each
How to create a date time value with a particular
format 7 Write the procedure to validate a string
entered by the user.
Write the procedure 1o create a form and display the
form as a dialog box. Expluin with example how
ftem Data property is different from List Index
property of a4 combo box.
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Rall No

Fotal Noo ol Ouestions 0] Total Nooof Printed Papes

(2104)

BCA (CBCS) RUSA Vth Semester
Examination

4105

ASP.NET TECHNOLOGIES
Paper : BCA-0504

ime : 3 Hours] [ Maximum Marks : 70

Vote — Attiempt five questions in all, sclecting one quesiion
from cach Parts=B. C, D and E. Question No. 1
(Purt-=A) 1s compulsory.

Part-A
(Compulsory Question)

1. (A} Do as directed (MCQ/True/False/Fill in the blunks) -
(1) Master pages are used (o provide the code arl

appearance that are the same for a stries of

e
an you use ASPX pages i MVO T
v/
L]
(ikt) CIDG}”M sonol an, ASP.NET page—ctent,
CS-32 (1) Turn Over

H!!___,

https://www.hpboardonline.com

vy In ASP.NET ;|p‘|1_l|f‘.'|liun DL hles are stored
mn .H,M.,,..,....‘“:-ldcr_

() In a SQL Statement while working with Syl
command it returns a single value, at that tme

method of command object will be

(i) wassew...... 15 not an ASP cyaiponent.

(Vi1)  wrgwonmmreeoee 18 the  DataType teturn an
I;»'Po.;;lbuck property. What happens in the inil
event of a page 7

(viii) Which validation control in ASP.NET can bc
used (o delcrn’;ine if data that is entered into u
TextBox control is of type Currency ? -
(2) ValidationSummary

‘,Lm/Com[mrcVuljdamr
(¢) RequiredFicldValidator
(d) None of these

(ix) What are the types ol cookies ?

(1) Secssion cookics

(b) Persistent cookics

(c) Dummy cookics

d) Opuon (ay and () urc/xﬁruft

CS-32 2
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"art-C

\ : : ke . .
(V) Whichof - the tollowing  session made 400 Create a console application (o enter  name and
servahizaton ss ned reginired o store e tiata 7 vahid age ol 10 voters along with their valid Audhar
|r’ 13 i

LAY Inliw No. (10 digll.‘;] and ['ll'il'!l the whole data,

¥

Y SO Sepa (i) Explain constant variables or symbols in VB NpET

(W Nate Serr ; [7,3]
3. (1) Discuss various flow control xuucmcnla in ASP.NET.

idy Nomnwe ol 1hese ||r|'l.|!l
I () Differentiate between camel notation and  Puscal

tl:ih \1'1&,"11"“ .l_l,l l-.l 1'“ i””{]‘x'”y n 25 liy 3‘" “*”.{!‘
cach ;

\I What s a delegate in NET 2

notation. . [7.3]
Part-D
6. (1) Write a detailed note Web form event handling.

N What are some of the common COMPONCNLs of ’ : : T - -
() Discuss various HTML general controls in detail

NET ?
15.5]
)rf What docs {[R stund for in NET - 7. (1) \ Differentate hclwct.anTML input radio hutmn i
(V) Write code ©send c-mail from an ASP NET \HTML input Checkbox Radio Control. © .
apphcation. (i)  What are various NET page life cycle events ? Give
/fvr What is the Qili'cl'cncc beiween ASP..’\.’FCT‘WCh eXAMDIE. hioe s hotomome oo o
APL and WGF 2 [4x5=20] Part-F
-t , 8.4 Discuss various validation cngitmls i detail. [10]
Do vanan fas o N frames o Lm;;:l"i 9. 1) How can you create cmtl use o user control and
i, error handhing  and ’ custom:control - IIrl
" e cumn movaled by ASENLT * i) What are the various stgps ol Jli{hl‘illf’m“ a custom

' ovide ASPNET o
e collecuon |mwu.lul by o
mdk server-conltrol 5.5]

! “‘ H \

Cs—
S-32 (4)
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Roll No.

.................................

(i) Which E-Commerce model involves the sale of

Total No. of Questions : 9] [ Total No. of Printed Pages : 7
(2104) g0ods or services from businesses to the general
BCA (CBCS) RUSA Vth Semester 1
.. public ?
Examination
4103 (a) Business to Government
E-COMMERCE

(b) - Business to Consumer
Paper : BCA-0502

. c) Business to Business
Time : 3 Hours) [Maximum Marks : 70 ©

Note — Attempt five questions in all, selecting one guestion (d)
each from Unit-I, 11, TII and IV, Question No. |
(Part—A) is compulsory.

Consumer to Business

(1) i, istare function(s) of
Part-A [10x1=10] |

(Compulsory Question) E-Commerce.

I. (A) Attempt all parts. Select the correct option :

, _ _ (a) Marketing
() i 1S N0 @ major type of

electronic commerce. .
° (b) Supply Chain.

(a), Consumer to Business

(b) Business to Consumer (c) Finance

(c) Business to Business

(d)r All of these
(d) Consumer to Consumer

CS_30 (1) Turn Over Cs—ao (2)
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(iv) This E-Commercc commercial enterprise model
specifically specializes in selling services or
products online :

(a) Indirect Marketing
(b). Online Direct Marketing
(¢) Brick and Mortar
(d) Marketplace
(v)  Which is a function of E-Commerce ?
(a) Marketing -
(b) Advertising
(¢) Warchousing

(d) All of these

(V1) e, is essentially a business process
that connects manufacturers, retailers, customers
and suppliers in the form of a chain to develop
and deliver products.

(4) E-commerce

(hy EDI

(c) Networking

(d) SCM _
05—30 (3) Turn Over

https://www.hpboardonline.com

(vn) o 15 a glass of advertising methods
which are canadered uncthical and may cven
he sllegal

{a)  Advertoruls

(b)  Pop-up ads

{c) Spam c-muil

(d) Malware

Fill in the blank spaces with appropriate words

(Vi) _.....ocooovvereeeee 18 4 financial instrument which

can be used more than once to borrow mones

or buy products and scrvices on credit.

gy 18 basically a secure gate between
our orgamzation dgta and internet,
(2} chcrypls payment card transacton
data and vernities gt both pattios i the
Wansachion are goimgine.
CS-30 Ca
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(BY Answer the following in 25 to 40 words : Sx4=20
(i) Discuss the growth and development of E-
Commerce in India.
(i) Differentiate between traditional marketing from
e-marketing.
(in) Write a short note on Search Engine
Optimization.
(1v)  What are the risks associated with electronic
payment systems ?
(v) What are the components of e-CRM ?
Part-B
Unit-1
2. (a) Discuss the Anatomy ol E-Commerce. | |5]
(b) Elaborate the impact of E-Commerce in India.  [3]
3. (u)  Discuss the E-Commerce Consumer and Oreanization
Applications. [5]
(h)  Write a short note on prospects E-Commeree an
India. 15
CS-30 (5) Turn Over

https://iwww.hpboardonline.com

Part-C

Unit-11

P
eing arketing on the
4 Discuss in detail about adverlising and marketing

[10]
Intemnet.

used for internel

[5]

5. (a) Describe various  ltools
marketing.

(b) List out somé weakness of Intermet advertising. [5]
Part-D

Unit-III

7

6. Discuss various types of Electronic Payment Systems in

detail. Also explain their benefils to the users and the

merchants. [10]

7. What do you mean by EDI ? What are the components
of Electronic Data Interchange ? Also discuss s advantages

~ {10]

Lor

in Business.

cs-30 (s
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Part-E

Unit-IV
rrd

8. How will you secure a Business over the Intermet ?

Discuss the security policy, procedures and practices to

secure a Business over the Internet. (10]
9. (a) Define customer relationship management. [5]
(b) Discuss the CRM utility in India. - [5]

https://www.hpbeardonline.com
Whatsapp @ 9300930012
Send yvour old paper & get 10/-
Foer e Tad g sty 10 3 9,

Payvtm or Google Pay &
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Roll NO. (b) dedi{jallﬁd resources

Total No. of Questions : 9] | Total No. of Printed Pages : 7
(2104} (c) shared resources

BCA (CBCS) RUSA Vth Semester

i i &) distnbuted resources
Examination (d)

4102 () A system generaled interrupt caused by an

OPERATING SYSTEM
Paper : BCA-0501

error durnng program execution is called

_ (a) a trap
Time : 3 Hours] [Maximum Marks : 70

. (b . . .
Note - (i) Question No. 1 (Part A} is compulsory. Attempt ) a program

four questions chaosing one question, each from

Part-B, Part-C, Part-D and Part-E.

(C) a process

(d) a malware
(1) Figures at the right indicate marks.

Part-A (i) Privileged mode of the operating system is a ;

(Compulsory Question) (a) User mode

I. (A) Select the correct altemative : (b) Kernel mode

(i)  Multiprocessor epvironment of the computer

c) System muode
system uses - .( ) SY

(a) parallel resoyrces (d) Application mode

CS-29 (1) Turn Over CS.—29 (2)
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(iv) No preemption meyns that a resource is released g ) eess f _
(vii) Moving procesS ITom main memory to disk is

as
(a) Terminased called :
C

(b) Non-voluntarily (a) Scheduling

(c) Voluntarily
(d) None of these (b) Caching

(v)  The information of a process is stored in a data (c) Swapping

structure called :

(a) Process control block (d) Spooling

b) Data blocks '
(b) ! (viii) Physical memory 15 broken into fixed-sized

c) Process flow Blbck

¥

blocks called =

(d) Process Access block i
(vi) When a process is loaded into the memory it is (a) frames

called as :

(b) backing storc

(a) Procedure ) &

(b) Process (c) pages

(¢) Register

(d) Table (d) None ol these

Cs-29 (3) Turn Over CS-29 (4)

https://www.hpboardonline.com https://www.hpboardonline.com


https://www.hpboardonline.com/

(X)  Which of the following memory allocation

| Part-R
. . 9
scheme suffers from external fragmentation - .
' (Unit-I) 10 each
(@) Segmentation o : PR ‘,
2. Explain any three types of operating systems. /
(b) Pure Demand Paging

3
(€) Swapping

3. What is an operating system ? Discuss the services
| provided by an operating system.,
(d) Paging )

. Part-C

(X) A process is thrashing if :
(a) it spends more time paging than executing (Unit-TI) 10 each
(b) it spends less time paging than execuling 4. Why process scheduling is required ? Discuss the features
(c) page fault occurs and types of scheduling algorithms available.
(d) swapping cannot fke place [1x10=10] 5. Define deadlock with example. Explain deadiock prevention

i i - -
(B) Explain the foflowing (in 2§ to 50 Words) and detection tcchniqucs./hups;ﬁwww_hpbgamgmme,com

(1)  Write necessary conditions for deadlock: Part-D

(i1)  Dafferentiate between sggmentation and paging. (Unit=I11) 10 each

(1) Explain the clements of PCB. . _

. , 6. What is virtual memory ? Discuss the process of address

(iv) What are the different stages in the life of .
process ! translation in case of virtual memary.

(v)

Whui |h IhL‘ 'IIE'IP‘UT“““."-: l'll. I“L\H'IH['.\'* '“illhlut."mcn[ 7' D]'SCU-""'! Var‘i(iLlS mcm”ly I'I’Iﬂﬂilgt‘mcn[ h‘L‘hCI"I‘II.:S E'ﬂ d":[dll
in an opetitiny system [4x5=20] Also discuss the physical and logical address space.

6
Cs_za (5) Turn Over CS-29 (8)
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Part-E

(Unit=1V) 10 cach
8. Discuss contiguous, linked and indexed methods of file
allocation 1n detail.
9. What is directory structure ? Explain single-level, lwu-/

level, structure directory with their advantages and

disadvantages.
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